Chapter 10

Marketing Channels and Supply Chain Management

Multiple-Choice 

1.
A _____ is made up of the company, suppliers, distributors, and ultimately 
customers who "partner" with each other to improve the performance of the 
entire system. 

a. 
supply chain

b. 
value delivery network

c. 
distribution channel

d. 
marketing channel

Answer: (b) Difficulty: (2) Page: 334

2. According to the text, the _____ partners from the manufacturer represent the set of firms that supply the raw materials, components, parts, information, finances, and expertise needed to create a product or service. 

a. "downstream"

b. "upstream"

c. "network"

d. "intermediary"


Answer: (b) Difficulty: (3) Page: 334

3. According to the text, the _____ partners from the manufacturer represent the marketing or distribution channels that look forward toward the customer.

a. "downstream"

b. "upstream"

c. "network"

d. "intermediary"


Answer: (a) Difficulty: (3) Page: 334

4. Most producers use _____ to sell their goods to the final users.

a. marketing channels

b. intermediaries

c. distribution channels

d. All of the above 

Answer: (d) Difficulty: (2) Page: 335

5. A set of interdependent organizations involved in the process of making a product or service available for use by the consumer is called _____.

a. supply chains

b. marketing channels

c. manufacturers

d. conglomerates

Answer: (b) Difficulty: (2) Page: 335

6. All of the following are accurate reasons why manufacturers give some of the selling job to channel partners, except which one?

a. Manufacturers give up some control over how and to whom the products are sold.

b. The use of intermediaries results from their greater efficiency in making goods available to target markets.

c. Through their contacts, experience, specialization, and scale of operation, intermediaries usually offer the firm more than it can achieve on its own.

d. Intermediaries transform the assortments of products made by producers into the assortments wanted by consumers.

Answer: (a) Difficulty: (2) Page: 336

7. All of the following are functions performed by channel members, except which one?

a. Information gathering

b. Promotion of offers

c. Contacting prospective buyers

d. All of the above are correct

Answer: (d) Difficulty: (2) Page: 336

8. _____ play an important role in matching supply and demand.

a. Manufacturers

b. Economists

c. Intermediaries

d. Financial marketers

Answer: (c) Difficulty: (2) Page: 336

9. Channel members _____ by bridging the time, place, and possession gaps that separate goods and services from those who would use them.

a. diminish value

b. add value

c. make narrow assortments of products for consumers

d. do not break bulk


Answer: (b) Difficulty: (2) Page: 336

10. Each layer of marketing intermediaries that performs some work in bringing the product and its ownership closer to their final buyers is called a(an)_____.

a. indirect marketing channel 

b. intermediary

c. channel level

d. direct marketing channel

Answer: (c) Difficulty: (2) Page: 337

11. A marketing channel that has no intermediary levels is called a(an) _____.

a. indirect marketing channel

b. franchise

c. channel level

d. direct marketing channel

Answer: (d) Difficulty: (2) Page: 337

12. Avon Cosmetics, Dell Computer, and Amway, are a few examples of companies that sell directly to consumers. The channel is a(an)_____.

a. indirect marketing channel

b. direct marketing channel

c. channel level

d. long one

Answer: (b) Difficulty: (2) Page: 337

13. All of the following are accurate descriptions of a direct marketing channel, except which one?

a. A direct marketing channel is an efficient channel.

b. A direct marketing channel is a short channel.

c. In a direct marketing channel, the company sells directly to consumers.

d. A marketing channel with no intermediary levels is a direct channel.

Answer: (a) Difficulty: (3) Page: 337

14. Channels with one or more intermediary levels are called _____.

a. direct marketing channels

b. indirect marketing channels

c. channel layers

d. short channels

Answer: (b) Difficulty: (2) Page: 337

15. From the producer's point of view, a greater number of channel levels means _____ and _____.

a. less control; less channel complexity

b. less control; no channel complexity

c. more control; less channel complexity

d. less control; greater channel complexity

Answer: (d) Difficulty: (3) Page: 337

16. Soft drink companies, such as Coca-Cola and PepsiCo, which sell to final consumers, are using the _____ channel.

a. "manufacturer to consumer"

b. "manufacturer to retailer to consumer"

c.  "manufacturer to wholesaler to retailer to consumer"

d. "manufacturer to business distributor to business to customer"

Answer: (c) Difficulty: (3) Page: 337, Figure 10.2

17. GM and Ford’s selling automobiles to final consumers is using the _____ channel.

a. "manufacturer to consumer"

b. "manufacturer to retailer to consumer"

c.  "manufacturer to wholesaler to retailer to consumer"

d. "manufacturer to business distributor to business to customer"

Answer: (b) Difficulty: (3) Page: 337, Figure 10.2

18. Intermediaries reduce the amount of work that must be done by both producers and consumers when _____.

a. manufacturers use a direct marketing channel

b. the channel is from "producer to consumer"

c. the manufacturer matches supply and demand

d. they reduce the number of contacts between producer and consumer


Answer: (d) Difficulty: (3) Page: 335, Figure 10.1

19. Channel member disagreements over channel goals, roles, and rewards generate _____.

a. channel loyalty

b. channel conflict

c. channel levels

d. value

Answer: (b) Difficulty: (1) Page: 338

20. When K-Mart complains that Wal-Mart steals sales in town by pricing too low, _____ occurs.

a. horizontal channel conflict

b. vertical channel conflict

c. scrambled merchandising

d. no channel conflict

Answer: (a) Difficulty: (2) Page: 338

21. When a mom-and-pop grocery retailer found out that Wal-Mart was the reason for a sharp decline in sales, they complained to their customers. _____ has occurred among the two firms in this case. 

a. Vertical channel conflict

b. Horizontal channel conflict

c. Merchandising conflict

d. Supplier conflict


Answer: (b) Difficulty: (2) Page: 338

22. All of the following are reasons why channel conflict occurs, except which one?

a. Channel members rarely give up individual company goals for the sake of overall channel goals.

b. Although channel members depend on one another, they often act alone in their own short-run best interests.

c. Channel members often disagree on who should do what and for what rewards.

d. All channel members work together smoothly for the broader channel goals.

Answer: (d) Difficulty: (2) Page: 338

23. _____ occurs between different levels of the same channel.

a. Vertical channel conflict

b. Horizontal channel conflict

c. Scrambled merchandising

d. Exclusive distribution

Answer: (a) Difficulty: (2) Page: 338


24. Distribution channel decisions often involve _____ commitments to other firms.

a. short-term 

b. long-term

c. packaging

d. promotion

Answer: (b) Difficulty: (3) Page: 335

25. _____ occurred when H&R Block franchisees complained that the parent company began using the Internet to deal directly with customers.

a. Horizontal channel conflict

b. Scrambled merchandising

c. Intensive distribution

d. Vertical channel conflict

Answer: (d) Difficulty: (2) Page: 338

26. A _____ consists of one or more independent producers, wholesalers, and retailers.

a. vertical marketing system

b. channel level

c. middleman

d. conventional distribution channel

Answer: (d) Difficulty: (2) Page: 339

27. All of the following are accurate descriptions of a conventional distribution channel, except which one?

a. A conventional channel consists of one or more independent producers, wholesalers, and retailers.

b. In a conventional channel, each channel member is a separate business seeking to maximize its own profits, even at the expense of the system as a whole.

c. No channel member has much control over the other members.

d. All channel members act as they are part of a unified system.

Answer: (d) Difficulty: (2) Page: 339

28. All of the following are accurate descriptions of a vertical marketing system (VMS), except which one?

a. A VMS consists of producers, wholesalers, and retailers acting as a unified system.

b. One channel member owns the others.

c. One channel member has contracts with other members or wields power over others for increased cooperation.

d. In a VMS, no formal means exists for assigning roles and resolving channel conflict.

Answer: (d) Difficulty: (2) Page: 339

29. There are three major types of vertical marketing systems: _____, _____, and _____.

a. corporate VMS; conventional channel; vertical VMS

b. corporate VMS; contractual VMS; administered VMS

c. hybrid; corporate; contractual

d. producer; dealer; administered VMS

Answer: (b) Difficulty: (2) Page: 339

30. Italian eyewear maker Luxottica produces famous name-brands, such as Ray-Ban, Vogue, Anne Klein, Ferragamo, and Armani. The brands are sold through LensCrafters and Sunglass Hut, which it also owns. Leadership through common ownership is an example of _____.

a. a contractual VMS

b. a corporate VMS

c. an administered VMS

d. a conventional marketing channel

Answer: (b) Difficulty: (2) Page: 339

31. A(n) _____ integrates successive stages of production and distribution under single ownership.

a. contractual VMS

b. administered VMS

c. corporate VMS

d. conventional marketing channel

Answer: (c) Difficulty: (2) Page: 339

32. _____ consists of independent firms at different levels of production and distribution who join together through contracts to obtain greater economies or sales impact than each could achieve alone.

a. A corporate VMS

b. A contractual VMS

c. An administered VMS

d. A conventional channel

Answer:  (b) Difficulty: (2) Page: 340

33. Coca-Cola licenses bottlers in various markets who buy Coca-Cola syrup concentrate and then bottle and sell the finished product to retailers in local markets. This is an example of a(an)_____.

a. manufacturer-sponsored-retailer franchise system

b. manufacturer-sponsored-wholesaler franchise system

c. service firm-sponsored retailer franchise system

d. administered VMS

Answer: (b) Difficulty: (3) Page: 341

34. A(n) _____ is a _____ in which a channel member links several stages in the production-distribution process.

a. corporate VMS; franchise organization

b. administered VMS; franchise organization

c. contractual VMS; franchise organization

d. contractual VMS; conventional channel

Answer: (c) Difficulty: (3) Page: 341

35. All of the following are characteristics of an administered VMS, except which one?

a. Channel leadership is not assumed through common ownership.

b. Channel leadership is not assumed through contractual ties.

c. Channel leadership is assumed through the size and power of one or a few dominant channel members.

d. The franchise organization is a common form of administered VMS.

Answer: (d) Difficulty: (2) Page: 341

36. _____ is a channel arrangement in which two or more companies at one level join together to follow a new marketing opportunity.

a. A vertical marketing system

b. A franchise organization

c. An administered VMS

d. A horizontal marketing system

Answer: (d) Difficulty: (2) Page: 341

37. When Nestle' jointly sells General Mills’s cereal brands in markets outside North America, it is an example of a(an)_____.

a. vertical marketing system

b. administered VMS

c. conventional marketing channel

d. horizontal marketing system

Answer: (d) Difficulty: (2) Page: 341

38. All of the following are accurate descriptions of horizontal marketing systems, except which one?

a. By working together, companies can combine their financial, production, or marketing resources to accomplish more than any one company could alone.

b. Companies can join together with competitors or non-competitors.

c. Companies can work together on a temporary or permanent basis or they may create a separate company.

d. All of the above are correct

Answer: (d) Difficulty: (2) Page: 341

39. Charles Schwab reaches customers by telephone, over the Internet, and through its branch offices. It invites its customers to "call, click, or visit" Schwab. Schwab uses a _____.

a. franchise format

b. horizontal marketing system

c. vertical marketing system

d. a multi-channel distribution system

Answer: (d) Difficulty: (2) Page: 342

40. A distribution system in which a single firm sets up two or more marketing channels to reach one or more customer segments is called a _____.

a. multi-channel distribution system

b. vertical marketing system

c. horizontal marketing system

d. franchise organization

Answer: (a) Difficulty: (2) Page: 342

41. Multi-channel distribution systems offer many advantages, such as _____:

a. allowing the company to expand its sales.

b. allowing the company to expand its market coverage.

c. allowing companies to tailor their products and services to the specific needs of diverse customer segments.

d. all of the above.

Answer: (d) Difficulty: (3) Page: 342

42. One major trend is toward _____; companies such as Dell Computer and American Airlines sell directly to customers and take away business from brick-and-mortar travel agents.

a. a multi-channel distribution system

b. a vertical marketing system

c. horizontal marketing system

d. disintermediation

Answer: (d) Difficulty: (3) Page: 343

43. All of the following are accurate descriptions of "disintermediation," except which one?

a. Disintermediation is often associated with the surge in online selling.

b. The Internet is a major disintermediating force.

c. Disintermediation works whether or not a new channel form succeeds in bringing greater value to consumers.

d. Changes in technology and the growth of direct marketing are having a profound impact on traditional resellers.

Answer: (c) Difficulty: (3) Page: 344

44. Stocking the product in as many outlets as possible is called _____.

a. exclusive distribution 

b. intensive distribution

c. selective distribution

d. disintermediation

Answer: (b) Difficulty: (2) Page: 347

45. Consumer items like toothpaste, candy, and other convenience items are sold through a(an)_____ strategy.

a. exclusive distribution

b. selective distribution

c. intensive distribution

d. disintermediation

Answer: (c) Difficulty: (2) Page: 347

46. Giving a limited number of dealers the exclusive right to distribute the company's products in their territories is called _____.

a. intensive distribution

b. exclusive distribution

c. selective distribution

d. partner relationship management

Answer: (b) Difficulty: (2) Page: 347

47. _____ is found in the distribution of new automobiles and prestige women's clothing.

a. Intensive distribution

b. Selective distribution

c. Exclusive distribution 

d. Disintermediation

Answer: (c) Difficulty: (2) Page: 347

48. _____ is the use of more than one, but fewer than all, of the intermediaries who are willing to carry the company's products.

a. Intensive distribution

b. Exclusive distribution

c. Selective distribution

d. A multi-channel distribution system

Answer: (c) Difficulty: (2) Page: 348

49. _____ gives producers good market coverage with more control and less control than does _____.

a. Intensive distribution; selective distribution

b. Selective distribution; exclusive distribution

c. Exclusive distribution; intensive distribution

d. Selective distribution; intensive distribution

Answer: (d) Difficulty: (2) Page: 348

50. By granting _____, Bentley gains stronger distributor selling support and more control over retailer prices, promotion, credit, and support.

a. exclusive distribution

b. intensive distribution

c. selective distribution

d. a franchise

Answer: (a) Difficulty: (2) Page: 347

51. Using _____, a company compares the likely sales, costs, and profitability of different channel alternatives.

a. control criteria

b. adaptive criteria

c. economic criteria

d. social criteria

Answer: (c) Difficulty: (2) Page: 348

52. When a company has identified several alternative channels, each alternative should be evaluated against _____, _____, and _____.

a. economic criteria; social criteria; control criteria

b. economic criteria; control criteria; adaptive criteria

c. cost; efficiency; control

d. reach; frequency; control criteria

Answer: (b) Difficulty: (2) Page: 348

53. According to the text, all of the following are accurate descriptions of the Japanese distribution system, except which one?

a. A profusion of tiny retail shops are supplied by an even greater number of small wholesalers.

b. Japan has myriad tiny retail shops.

c. The Japanese distribution network reflects the close ties among many companies.

d. Japanese homemakers shop once a week, much like their American counterparts.

Answer: (d) Difficulty: (3) Page: 349

54. Channel management calls for the _____.

a. selection of channel members

b. management of channel members

c. motivation and evaluation of channel members

d. all of the above

Answer: (d) Difficulty: (2) Page: 349

55. According to the text, which of the following is a criterion required to evaluate channel intermediaries?

a. the number of years a channel member has been in business

b. the growth and profit record of the channel member

c. the cooperativeness and reputation of the channel member

d. all of the above

Answer: (d) Difficulty: (2) Page: 350

56. Wal-Mart and P&G work together to create superior value for final consumers. They jointly plan merchandising goals and strategies, inventory levels, and advertising and promotion plans. Wal-Mart and P&G practice strong _____.

a. scrambled merchandising

b. supply chain management

c. distribution centers

d. partner relationship management

Answer: (d) Difficulty: (2) Page: 350

57. When a seller requires that dealers not handle competitors' products, its strategy is called _____.

a. exclusive distribution

b. exclusive dealing

c. tying arrangements

d. supply chain management

Answer: (b) Difficulty: (2) Page: 353

58. Producers of a strong brand sometimes sell it to dealers only if the dealers will take some or all of the rest of the line. This is _____.

a. a tying agreement

b. called full-line forcing

c. not necessarily illegal

d. all of the above

Answer: (d) Difficulty: (2) Page: 353

59. According to the text, physical distribution is also known as _____.

a. CRM

b. a VMS

c. tying arrangement

d. marketing logistics

Answer: (d) Difficulty: (2) Page: 354

60. _____ involves getting the right product to the right customer in the right place at the right time.

a. Physical distribution

b. CRM

c. A VMS

d. Intermodal transportation

Answer: (a) Difficulty: (2) Page: 354

61. Moving products and materials from the suppliers to the factory is called _____.

a. outbound distribution

b. inbound distribution

c. intermodal transportation

d. reverse distribution

Answer: (b) Difficulty: (2) Page: 354

62. Moving the products from the factory to resellers and ultimately to customers is called _____.

a. outbound distribution

b. inbound distribution

c. intermodal transportation

d. reverse distribution

Answer: (a) Difficulty: (2) Page: 354

63. All of the following are reasons in support of why companies today are placing greater emphasis on logistics, except which one?

a. Companies can gain a powerful competitive advantage by using improved logistics to give customers better service or lower prices.

b. Improved logistics can yield tremendous cost savings to both the company and its customers.

c. The explosion in product variety has created a need for improved logistics management.

d. Improvements in information technology have created fewer opportunities for gains in distribution efficiency.

Answer: (d) Difficulty: (3) Page: 355

64. All of the following are accurate descriptions of the goals of the logistics system, except which one?

a. All logistics systems can both maximize customer service and minimize distribution costs.

b. Maximum customer service implies rapid delivery, large inventories, flexible assortments, liberal returns’ policies, and other services, all of which raise distribution costs. 

c. Minimum distribution costs imply slower delivery, smaller inventories, and larger shipping lots, which imply a lower level of overall customer service.

d. The goal of marketing logistics should be to provide a targeted level of customer service at the least cost.

Answer: (a) Difficulty: (2) Page: 355

65. _____ are designed to move goods rather than just store them.

a. Storage warehouses

b. Distribution centers

c. Pipelines

d. Conventional marketing channels

Answer: (b) Difficulty: (2) Page: 355

66. Many companies have greatly reduced their inventories and related costs through _____ logistics systems. 

a. advanced

b. computerized

c. marketing

d. just-in-time

Answer: (d) Difficulty: (2) Page: 356

67. All of the following are accurate descriptions of inventory management, except which one?

a. Marketing managers must maintain the delicate balance between carrying too little inventory and carrying too much.

b. With too little stock, the firm risks not having products when customers want to buy.

c. Carrying too much inventory results in higher than necessary inventory carrying costs and stock obsolescence.

d. Inventory management does not affect customer satisfaction.

Answer: (d) Difficulty: (3) Page: 356

68. Among the main transportation modes, _____ account for the largest portion of transportation within cities as opposed to between cities.

a. railroads

b. trucks

c. water carriers

d. pipelines

Answer: (b) Difficulty: (2) Page: 356

69. _____ carriers are one of the most cost-effective modes for shipping large amounts of bulk products: coal, sand, minerals, and farm products over long distances.

a. Railroad

b. Truck

c. Water 

d. Air 

Answer: (a) Difficulty: (2) Page: 356

70. _____ are highly flexible in their routing and time schedules, and they can usually offer faster service than railroads. They are efficient for short hauls of high-value merchandise.

a. Railroads

b. Water carriers

c. Air carriers

d. Trucks

Answer: (d) Difficulty: (2) Page: 356

71. _____ are a specialized means of shipping petroleum, natural gas, and chemicals from sources to markets.

a. Pipelines

b. Water carriers

c. Trucks

d. None of the above

Answer: (a) Difficulty: (2) Page: 357

72. The _____ carries digital products from producer to customer via satellite, cable modem, or telephone wire.

a. Internet

b. PC

c. Digital network

d. LAN

Answer: (a) Difficulty: (2) Page: 357

73. All of the following companies are likely to use a direct marketing channel, except which one?

a. Marketers of perishable products

b. Marketers of high-tech products

c. Direct marketers such as Land's End and Amazon.com

d. Confectionary marketers, such as Mars Inc., selling candies through supermarkets

Answer: (d) Difficulty: (2) Page: 337

74. The number of channel members to be used at each level is called _____.

a. direct distribution

b. indirect distribution

c. exclusive distribution

d. intensity of distribution

Answer: (d) Difficulty: (2) Page: 347

75. Kraft, Coca-Cola, and P&G distribute their products using a(n) _____ strategy.

a. intensive distribution

b. exclusive distribution

c. direct distribution

d. intensity of distribution

Answer: (a) Difficulty: (2) Page: 347

76. After it leaves the manufacture, soap may move through three wholesalers plus a sales company before it ever reaches the retail outlet. A steak goes from rancher to consumers in a process that often involves a dozen middle agents. This sort of distribution network is found in _____.

a. U.S.A

b. Canada

c. India

d. Japan

Answer: (d) Difficulty: (2) Page: 349

77. _____ involves planning, implementing, and controlling the physical flow of goods, services, and related information from points of origin to points of consumption to meet customer requirements at a profit.

a. CRM

b. ERP

c. Supply chain management

d. Physical distribution management

Answer: (d) Difficulty: (2) Page: 354

78. Combining two or more modes of transportation is called _____.

a. dual transportation

b. integrated transportation

c. integrated logistics management

d. intermodal transportation

Answer: (d) Difficulty: (2) Page: 357

79. The logistics concept that emphasizes teamwork, both inside the company and among all the marketing channel organizations, to maximize the performance of the entire distribution system is called _____.

a. intermodal transportation

b. just-in-time inventory management

c. integrated logistics management

d. VMS

Answer: (c) Difficulty: (2) Page: 357

80. According to the text, _____ describes the use of rail and trucks.

a. piggyback

b. fishyback

c. trainship

d. airtruck

Answer: (a) Difficulty: (2) Page: 357

81. A growing number of businesses now _____ some or all of their logistics functions to _____.

a. outsource; the Internet

b. perform on their own; increase efficiency

c. outsource; third-party logistics’ suppliers

d. outsource; the logistics guru

Answer: (c) Difficulty: (2) Page: 359

82. All of the above are reasons why companies are using third-part logistics’ providers, except which one?

a. Since getting the product to market is their main focus, these providers can often do it more efficiently and at a lower cost.

b. Outsourcing typically results in 15 to 30 percent cost savings.

c. Outsourcing logistics frees a company to focus more intensely on its core competencies.

d. Integrated logistics’ companies do not understand increasingly complex logistics environments.

Answer: (d) Difficulty: (2) Page: 360

83. Major logistics’ functions include _____.

a. warehousing

b. inventory management

c. transportation and logistics’ information management

d. all of the above

Answer: (d) Difficulty: (2) Page: 355

84. With _____ systems, producers and retailers carry only small inventories of parts or merchandise, often only enough for a few days of operations.

a. CRM

b. just-in-time logistics 

c. VMS

d. horizontal marketing systems

Answer: (b) Difficulty: (2) Page: 356

85. Marketing channel functions can be grouped into three categories: _____, _____, and _____.

a. transactional; logistical; VMS

b. transactional; VMS; information

c. logistical; inventory management; warehousing

d. transactional; logistical; facilitating

Answer: (d) Difficulty: (2) Page: 336

True/False

86. According to the text, the term supply chain is broad; it takes a make-and-sell view of the business. It suggests that raw materials, productive inputs, and factory capacity should serve as the starting point for market planning.


Answer: (False) Difficulty: (2) Page: 334

87. A supply chain is made up of the company suppliers, distributors, and ultimately customers who "partner" with each other to improve the performance of the entire system.


Answer: (False) Difficulty: (2) Page: 334

88. The "downstream" side of the supply chain refers to the marketing channels or distribution channels that look forward toward the customer.


Answer: (True) Difficulty: (2) Page: 334

89. The "upstream" side of the supply chain refers to the set of firms that supply the raw materials, components, parts, information, finance, and expertise needed to create a product or service.


Answer: (True) Difficulty: (2) Page: 334

90. A supply chain is a set of interdependent organizations involved in the process of making a product or service available for use or consumption by the consumer or business user.


Answer: (False) Difficulty: (2) Page: 335

91. Distribution channel decisions often involve short-term commitments to other firms.


Answer: (False) Difficulty: (2) Page: 335

92. A marketing channel is also known as an intermediary.


Answer: (True) Difficulty: (1) Page: 335

93. Producers use intermediaries for their contacts, experience, specialization, and scale of operation. Intermediaries are very efficient in making goods available to target markets.


Answer: (True) Difficulty: (2) Page: 335

94. Producers make broad assortments of products in large quantities, but consumers want narrow assortments of products in small quantities.


Answer: (False) Difficulty: (2) Page: 336

95. Producers, not intermediaries, play an important role in matching supply and demand.


Answer: (False) Difficulty: (2) Page: 336

96. Intermediary functions can be divided up into three major groups: transactional, logistical, and facilitating.


Answer: (True) Difficulty: (3) Page: 336

97. A distributor reduces the number of channel transactions between the producer and consumer.


Answer: (True) Difficulty: (2) Page: 336

98. Each layer of marketing intermediaries that performs some work in bringing the product and its ownership closer to the final buyer is a channel level.


Answer: (True) Difficulty: (2) Page: 337

99. A marketing channel that has no intermediary levels is called an indirect marketing channel.


Answer: (False) Difficulty: (2) Page: 337

100. From the producer's point of view, a greater number of levels means less control and greater channel complexity.


Answer: (True) Difficulty: (2) Page: 337

101. Disagreement over goals, roles, and rewards generates channel conflict.


Answer: (True) Difficulty: (2) Page: 337

102. Horizontal conflict occurs among firms at the same level of the channel.


Answer: (True) Difficulty: (2) Page: 338

103. Vertical conflict occurs between different levels of the same channel.


Answer: (True) Difficulty: (2) Page: 338

104. A channel consisting of one or more independent producers, wholesalers, and retailers, each a separate business seeking to maximize its own profits even at the expense of profits for the system as a whole, is called a conventional distribution channel.


Answer: (True) Difficulty: (2) Page: 339

105. A distribution channel structure in which producers, wholesalers, and retailers act as a unified system is called a vertical marketing system. 


Answer: (True) Difficulty: (2) Page: 339

106. A contractual VMS integrates successive stages of production and distribution under single ownership.


Answer: (False) Difficulty: (2) Page: 339

107. Under a contractual VMS, Sears obtains more than 50 percent of its goods from companies that it partially or wholly owns.


Answer: (False) Difficulty: (2) Page: 339

108. A VMS, in which independent firms at different levels of production and distribution join together through contracts to obtain more economies, is called a contractual VMS.


Answer: (True) Difficulty: (2) Page: 339

109. Under a corporate VMS, Zara controls almost every aspect of the supply chain, from design and production to its own worldwide distribution network.


Answer: (True) Difficulty: (2) Page: 339

110. The franchise organization is the most common type of administered relationship.


Answer: (False) Difficulty: (2) Page: 341

111. In an administered VMS, leadership is assumed through the size and power of one or a few dominant channel members.


Answer: (True) Difficulty: (2) Page: 341

112. In a manufacturer-sponsored retailer-franchise system, Coca-Cola licenses bottlers in various markets who buy Coca-Cola syrup concentrate and then bottle and sell the finished product to retailers in local markets.


Answer: (False) Difficulty: (2) Page: 341

113. A channel arrangement in which two or more companies at one level join together to follow a new marketing opportunity is called a horizontal marketing system.


Answer: (True) Difficulty: (2) Page: 341

114. Horizontal marketing systems are also known as hybrid marketing channels.


Answer: (True) Difficulty: (2) Page: 341

115. A distribution system in which a single firm sets up two or more marketing channels to reach one or more customer segments is called a multi-channel distribution system.


Answer: (True) Difficulty: (2) Page: 341

Essay 

116. Define disintermediation. Discuss the opportunities and threats presented by disintermediaries to other channel members.


Answer:

The displacement of traditional resellers from a marketing channel by radical new types of intermediaries is called disintermediation. More and more this means product and service producers are bypassing intermediaries and going directly to final buyers or that radically new types of channel intermediaries are emerging to displace traditional ones. The threat posed by new intermediaries requires firms to find new ways to add value to the supply chain. To remain competitive, traditional producers must develop new channel opportunities and learn to appease existing channel members. For example, HP uses three direct-sales Web sites and thus avoids conflicts with its established reseller channels. In doing so,  HP gains the advantages of direct selling but also boosts business for resellers.


Difficulty: (2) Page: 343

117. Companies can choose among three strategies to determine the number of channel members to use at each level. First, define each strategy. Next, discuss the types of channels sought by manufacturers.


Answer:


The three strategies available to companies are: intensive, selective, and exclusive 
distribution. Producers of convenience products and common raw materials 
typically seek intensive distribution, a strategy in which they stock their products 
in as many outlets as possible. These goods must be available where and when 
consumers want them. For example, toothpaste, candy, and other similar items are 
sold in millions of outlets to produce brand exposure and consumer convenience. 
Kraft, Coca-Cola, Kimberly Clark, and other consumer products companies 
distribute their products in this way. The use of more than one, but fewer than all, 
of the intermediaries who are willing to carry a company's products is called 
selective distribution. Most TVs, furniture, and small appliance brands are 
distributed this way. For example, Kitchen Aid, Maytag, Whirlpool, and GE sell 
their appliances through dealer networks and selected large retailers. Selective 
distribution gives producers good market coverage with more control and less 
cost than does intensive distribution. Giving a limited number of dealers the 
exclusive right to distribute the company's products in their territories is called 
exclusive distribution. Examples of products distributed this way include new 
automobiles and prestige women's clothing.


Difficulty: (2) Pages: 347-348

118. According to the text, there are three sets of criteria used to evaluate channel alternatives. Explain.


Answer:


When a company has identified channel alternatives and it wants to select one that 
will best satisfy its long-run objectives, each alternative should be evaluated 
against economic, control and adaptive criteria. Using economic criteria, a 
company compares the likely sales, costs, and profitability of different channel 
alternatives. Using intermediaries means giving them some control over the 
marketing of the product; some intermediaries take more control than others. 
Finally, the company must apply adaptive criteria. Channels often involve long-
term commitments, yet the company wants to keep the channel flexible so that it 
can adapt to environmental changes.
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119. According to the text, the term “supply chain” may be too limited. Explain why.


Answer:

The supply chain consists of "upstream" and "downstream" partners, including suppliers, intermediaries, and even intermediaries' customers. The term supply chain takes a make-and-sell view of the business. It suggests that raw materials, productive inputs, and factory capacity should serve as the starting point for market planning. A better term is demand chain because it suggests a sense-and-respond view of the market. Under this view, planning starts with the needs of target customers; the company responds by organizing resources with the goal of building profitable customer relationships. Even a demand view of a business may be too limited; it takes a step-by-step linear view of purchase-production-consumption activities. Hence, a value-delivery network perspective is more appropriate. A network made up of the company suppliers, distributors, and ultimately customers who "partner" with each other to improve the performance of the entire system is called a value-delivery network.

Difficulty: (2) Page: 334

120. Members of the marketing channel perform many key functions. Identify any five major functions performed by channel members and briefly discuss them.


Answer:


The five major functions performed by channel members include: information, 
promotion, contact, matching, and negotiation.


Information: Gathering and distributing marketing research and intelligence 
information about actors and forces in the marketing environment needed for 
planning and aiding exchange.


Promotion: Developing and spreading persuasive communications about an offer.


Contact: Finding and communicating with prospective buyers.


Matching: Shaping and fitting the offer to the buyer's needs, including activities 
such as manufacturing, grading, assembling, and packaging.


Negotiation: Reaching an agreement on price and other terms of the offer so that 
ownership or possession can be transferred.


Difficulty: (2) Page: 336

121. Distinguish between a direct marketing channel and an indirect marketing channel.


Answer:


A direct marketing channel has no intermediary levels; the company sells directly 
to consumers. Avon Cosmetics, Amway and Dell are a few examples of 
companies that sell directly to consumers. In an indirect marketing channel, the 
channel containing one or more intermediary levels has several variations. In one 
channel, a manufacturer sells through a retailer to consumers. For example, 
automobiles are sold using this channel. In another variation, a manufacturer sells 
through a wholesaler and a retailer to consumers. Soft drink companies sell their 
products using this approach.
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122. Define channel conflict. Distinguish between horizontal conflict and vertical conflict in channels.


Answer:

Disagreement among marketing channel members on goals and roles, who should do what and for what rewards, is called channel conflict. Horizontal conflict occurs among firms at the same level of the channel. Vertical conflict, conflict between different levels of the same channel, is even more common.



Difficulty: (2) Page: 338

123. Distinguish between a conventional distribution channel and a vertical marketing system. 


Answer:


A conventional distribution channel consists of one ore more independent 
producers, wholesalers, and retailers. Each is a separate business seeking to 
maximize its own profits, even at the expense of the system as a whole. No formal 
means exists for assigning roles and resolving conflict. In contrast, a VMS 
consists of producers, wholesalers, and retailers, acting as a unified system. 
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124. There are three major types of vertical marketing systems. Explain.


Answer:

A corporate VMS integrates successive stages of production and distribution under a single ownership. For example, Luxottica, an eyewear maker owns Rayban, Vogue, Anne Klein, and Armani, in addition to two large optical chains, LensCrafters and Sunglass Hut. A contractual VMS is one in which independent firms at different levels of production and distribution join together through contracts to obtain more economies or sales impact than they could achieve alone. The franchise organization is the most common form of contractual relationship. In an administered vertical marketing system, leadership is assumed through the size and power of one or a few of the dominant channel members. Examples include IBM, Wal-Mart and Barnes and Noble; they exert influence over channel members that supply the products they manufacture/sell.
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125. Today more and more companies are adopting multi-channel distribution systems. First, define it and then discuss its advantages and disadvantages.


Answer:


Multi-channel distribution systems, often called hybrid marketing channels, are 
increasingly used today. The proliferation of customer segments and channel 
possibilities has resulted in more and more companies adopting multi-channel 
distribution systems. Multi-channel marketing occurs when a single firm sets up 
two or more channels to reach one or more segments. IBM uses multiple channels 
to serve dozens of segments, from large corporate buyers to small businesses to 
home office buyers. With each channel, the company expands its sales and market 
coverage and gains opportunities to tailor its products and services to the specific 
needs of diverse customer segments. Hybrid channels are harder to control; 
they generate conflict as more channels compete for customers and sales.
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Application 

126. According to a recent article published in the New York Times, Wal-Mart, America's largest corporation (sales revenue) and the world's largest retailer, is perceived by many as a "logistics company" and not a plain old discount retailer. Apply the principles of integrated logistics management to Wal-Mart. In your discussion, apply the principles of supply chain management, goals of the logistics system, and major logistics functions.


Answer:

Wal-Mart, with over $275 billion in sales revenue, operates a network of 78 huge U.S. distribution centers and another 37 around the globe. Almost 84 percent of the merchandise shipped to Wal-Mart stores is routed through one of its distribution centers, giving Wal-Mart tremendous control over inventory management. One center, which serves the daily needs of 165 Wal-Mart stores, typically contains more than a million square feet of space under a single roof. Wal-Mart's Retail Link System has enabled it to stay in touch with its manufacturers/suppliers. P&G and GE are Wal-Mart's two major partners in their efforts to make their just-in-time inventory systems more efficient. Recently Wal-

Mart was rated as number one in Mexico too. The goal of marketing logistics at Wal-Mart is to be the least cost provider. They have over 3,000 vendors they do business with. This enables them to trade vendors and provide customers with the lowest cost products. They pass the savings on to the customers. Wal-Mart generates over $300 of sales revenue per square foot of space. They are #1 in groceries and toys too. All this is possible due to their automated 
warehousing. Wal-Mart has its own satellite. Integrated logistics’ management is a concept that emphasizes teamwork, both inside the company and among all the marketing channel organizations, to maximize the performance of the entire distribution system. To build logistics partnerships, the success of each channel member depends on the performance of the entire supply chain. For example, Wal-Mart can charge the lowest prices at retail only if its entire supply chain,
consisting of thousands of merchandise suppliers, transport companies, warehouses and service providers, operates at maximum efficiency. P&G has a team of almost 100 people working in Bentonville, Arkansas, home of Wal-Mart. The P&Gers work jointly with their counterparts at Wal-Mart to find ways to 
squeeze costs out of their distribution system. Working together benefits not only P&G and Wal-Mart but also their final consumers.
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